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3 Uoogogon

3.1 00OO00O0OO0oooon

#include <stdio.h>
#include <math.h>

double f(double x); //00000000

//

// 00000

//

int main(void){

double x, dx, xmin, xmax, y;
double max_y, max_x;
int i, ncal;

//--- 000000 ---

xmin = -10;

xmax = 10;

dx = 0.00001;

ncal = (xmax—xmin)/dx;

//---Q0ooog ---
max_x = xmin;
f (xmin) ;

max_y

//--- 0000d ---
for(i=1; i<=ncal; i++){
X = xmin + i*dx;
y = £(x);
if (max_y <= y){ /00000000000
max_x = X;
max_y = y;
}
}

printf("4f000000%0000\n",max_x, max_y);

return 0;
+
//
// 00000ooo
//
double f(double x){
double y;
y = -b*xxxx - 6%x + 10 - sin(x); // 00000
return y;
}



3.2 DOUOOOO0OOO0Od
20 0]

#include <stdio.h>
#include <math.h>

void info_tri(double a, double b, double c); // 00000000
double S, total_len; // 0000000
//

// 00000

//

int main(void)

{

double henl, hen2, hen3;

printf ("0 1000 ?\t");
scanf ("%1f",&henl);
printf ("0 2000 7\t");
scanf ("%1f",&hen2) ;
printf ("0 3000 7\t");
scanf ("%1f",&hen3);

info_tri(henl, hen2, hen3);
if (S < -990){

Yelsed{
printf ("0 000O%E0O00O\n", S);
printf ("0 00 0% 000\n", total_len);
}

return 0;
¥
// =
// 00000000
//
void info_tri(double a, double b, double c)
{

double s, test;

s=(a+b+c)/2;
test=s*(s-a)*(s-b)*(s-c);

if (test<=0){
S = -999.0;

Yelsed{
S = sqrt(test);
total_len = atb+c;

}
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